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QUESTION NO: 1

Which two statements are true about virtualized platforms?(Choose two.)
A. The vSRX must have two vCPU dedicated to the vCP

B. The vMX used separate VMs to host the vCP and vFP

C. The vSRX must have one vCPU dedicated to the vCP

D. The vMX uses one VM to host the vCP and vFP

ANSWER: B C

QUESTION NO: 2

You want to automate the management of virtualized applications using Contrail
Networking

Which type of SDN is used in this scenario?

A. OpenFlow SDN

B. APl SDN

C. Overlay SDN

D. Ansible Automation

ANSWER: B

QUESTION NO: 3

Which open source management framework does VMware NSX use to manage VXLANs on Junos device?
A. OVSDB
B. Contrail networking

C. OpenFlow
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D. OpenConfig

ANSWER: A

QUESTION NO: 4

Which cloud CPE component manages the end-to-end path from the CPE to the central office or to another CPE?
A. service orchestration

B. infrastructure orchestration

C. physica telco cloud infrastructure

D. virtual network functions

ANSWER: A

QUESTION NO: 5

Devices in your data center have become unwilling participants of botnet attacks.
In this scenario, which security technology should you use to stop this behavior?
A. Policy Enhancer

B. Sky ATP GeolP threat protection

C. Sky ATP C&C threat protection

D. IPsec

ANSWER: C

QUESTION NO: 6

What are three orchestrators that integrate with Contrail? (Choose three)
A. VirtualBox

B. Kubernetes

C. Ubuntu
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D. OpenStack

E. vSphere

ANSWER: BD E

QUESTION NO: 7

Which OpenStack service manage image storage?
A. Glance

B. Swift

C. Nova

D. Heat

ANSWER: A

QUESTION NO: 8

What are three software suites that contribute to cloud architectures? (Choose three.)
A. Kubernetes

B. Ubuntu

C. VirtualBox

D. vSphere

E. Openstack

ANSWER: ADE

QUESTION NO: 9

What are two objectives of SDN?(choose two)
A. centralization of control plane

B. physical separation of the control plane from the data plane
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C. centralization of the forwarding plane

D. centralization of the services plane

ANSWER: AB

QUESTION NO: 10

What are two characteristics of vMX series devices? (Choose two)

A. The vMX series uses carrier-grade routing optimized for the x86 environment
B. The vMX series requires a license for production environment

C. The vMX series uses a trio ASIC

D. The vMX series uses containerization technology for rapid service enablement

ANSWER: AB
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